Wed, Sept 21, 2011 MATH 462, Quiz 3 Prof. V. Panferov

Sobtrons.

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Let u, v and w be distinct vectors in a vector space V. Show that if {u,v,w} is a basis
of V then {u+ v + w,v + w,w} is also a basis for V.
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2. Find a basis for the following subspace of F*:

Ay —ay — % = dz"f free
a, = -
3
= ‘27‘&3*@') a, =, ar- =V AT
d/ ) z : / 0
a, { 0 0 0
2 = v | wl 9 v ’
14 0 0 0 {
27

/ / 0 Siuce *e alse
, A 0 g Véc;ovs' ;wa
= _ 0 1 0 0 n. .
) ﬁ — g j g ) ! /] / / Please turn oveﬁ...¢



3. Let T : Myys(F) — Ma,.o(F) be defined by
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Iind the bases for N(T) and R(T).
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